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MATHEMATICS

READ THESE INSTRUCTIONS CAREFULLY
1. You have been given this question bookiet and a separate answer sheet. The question paper contains
50 questions.
2. Do any necessary rough work in this booklet.
3. When you have chosen your answer, mark it on the ANSWER SHEET, not in this guestion booklet.

6. By drawing a dark line inside the & W"
Code Number and the threg. fj dldateﬁNu jfl’ Jhe grid near the top of the answer sheet.
7. Do not make any marks ou sjdefthe “

8. Keep the sheet as clean a& po Q@lgaﬁdﬁﬁm\lgﬁﬁT

9. For each of the questions 1-50%oUrame & answers are lettered A,B,C,D. In each
case only ONE of the four answers is correct. Choose the correct answer.
10. On the answer sheet the correct answer is to be shown by drawing a dark line inside the box in which

the letter you have chosen is written.
Example:-
In the question paper.
4. Change three thousand hectometres into kilometres
A 3 :
B. 300
C. 30
D.0.3
The correct answer is B. (300).
On the answer sheet

ENM[AI[B][C][D] [ZA[AI[BIICI(D] EZAIAIBIICID] [ [AIB][C][D]

In the first set, the box with the letter B printed in it is marked.

11. Your dark line MUST be within the brackets.
' 12. For each question ONLY ONE bracket is to be marked in each of four brackets.
This question paper consists of 8 printed pages.
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Which one of the following number is twelve
million one hundred and tviv thousand
and twelve in symbols?

A. 12120012

B. 12012012

C. 12102012

D. 12102102

What is the total value of di‘git 6 in the
number 1056737

A. Hundreds

B. 6000

C. Thousands

D. 600

Simplify the inequality: 3m - 5<7

A m<4

B.m>4

C.m<ll4

Dm<12 . *ﬁ{ E
The area of the figure below is 54 Q ol )

A car travelled 200m in 3 seconds. What is
the speed in km/h?

A. 14.4km/h

B. 40km/h

C. 144km/h

D. 80km/h \

The circumference of the semi-circle below

is 44cm.

Calculate its diameter.

@
| 7€ harked price of a T.V set is Shs. 36000.

T
A\ ,ff % Iflire urchase pricé is 20% more than
S| p
i L Qﬁ price. Timothy bought it on
o - \;1’!;}1:‘%}_1'@ ase. He paid 12 equal monthly
‘)GT,EP L. instaliinents of Shs. 2500. How much deposit
did he pay for the T.V set?
A. Shs. 13200
[] B. Shs. 30000
Find its perimeter. C. Shs. 36000
B. 15m 9. What is the next number in the pattern below?
C. 21m i1, 13, 16, 21, 28, -
D. 36m g‘ ;g
The average weight of 5§ packets is 3.2kg. o 41
The average weight of four of the packets ; 38
is 3.1kg. What is the weight of the fifth 10. A meeting that took 4%}“"5 ended at

packets? :
A. 6.6kg
B. 3.6kg
C. 3.3kg
D. 2.7kg
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1.15p.m. At what time did the meeting start?
A. 8:30p.m
B. 9:30a.m
C. 7:30a.m
D. 8:30a.m
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11. The figure below shows a quadrilateral
ABCD. Line DA = DB = BC. Angle ADB
= 80°. :

D >> C
A 3> B
Find the measure of angle CBD.
A. 80° B. 65°
C.50° D. 100°
12. Find the value of: (@ - ) + 2n
n-q

giventhatq=3,t=q-1,n=2q.+ 1.
A. 4 ¥

. B'3T

3
C.4y

15. What is the value of w in the equation.
%(ZIW -14) + %—(SW -4)=6?
Al
B.3
C.5
D. 8
What is the sum of the HCF and LCM 0f 18,
54 and 727
“AL18
B. 216
C. 198
D. 234
Evaluate the following;
1.8x56x0.9
0.72 x 3.6
A.035

16.

17.

ea of a square garden is 26.01m*. What
measure of the length of the garden?

5

1
D. 155

| STEEJFLY‘E@’?TK

13. A book has 24 pages. 7here ar
12960 words in the book. What is the average
number of Words per line if there are 36 lines

~ in each page?
A. 360
B. 540
C.15
D. 10

14. Kamau is paid a basic salary of Shs. 20,000.
He is also given a commission of 8% for the
sales he make. In a certain month he sold
goods worth Shs. 420000. How much did
he earn altogether?

A. Shs. 33600
~ B. Shs. 23360
C. Shs. 53600
D. Shs. 43600
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D, o6.om

A family uses 560ml packet of milk each day.
How many litres of milk did the family use
in the month of February 20117

A. 14.5L

B. 140L

C. 14L

D. 14000L

Kware bought fruits. He ate 12 fruits and
then gave his three friends 9 fruits each. Ifhe
still remained with 9 fruits for himself. How
many fruits did he buy altogether?

A. 48

B. 36

C.57

D. 72

18,

20.
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21. Ashopkeeper had money in form of notes as

shown in table below.
No of notes 2 4 8 5 15
Value of notes in Shs. | 1000 | 500 | 200 | 100 | 50

He changed all the money into Shs. 20 coins.

How many coins did he get?

A. 342
B. 343
C.342.5
D. 6850 :
- S .3 1 2.
22. Arrange R AR and 3 from the $mallest

to the largest.

2
, 'g— D. %, 3,
23. The price of a 2kg packet of wheat flour
increased from Shs. 120 to Shs. 150. What
was the percentage increase?
A. 30%
B.25%

C.20%
- D.15%
24. 10 tonnes of maize were packed ¥

27. In a meeting the ratio of men to women was
3:2. In the afternoon —%— for women left the
meeting. If 12 women left. How many men -
attended the meeting?

A. 18
B. 27
C.36
D. 15

28. A boy cycled from home to marked at a
speed of 24km/h and took 30 min. He cycled
back home the same distance at a speed.of
16km/h, how long did he take to travel from
market to home?

A. 15 min
B.1hr

C. 45 min

3 .
D. 4mm

obtained altogether after pacE ?ng@
A. 80 ‘

B. 8000
C. 800
D. 125000

25. Karen poured 55 litres of water into a
cylindrical container of diameter 50cm.
What was the depth of the water in the
container? (Take n = 272)
A. 28cm
B. 24cm
C. l4cm
D.35cm

26. V}/hat is the vah%e of:1
13. 1()f%l()-4x 8 T 17
B.6

S C1

D.3
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What is the size of angle DAB?
A. 80° B. 20°
C.70° D. 100°
30. "The area of the curved surface of a cylinder
is 1452cm? and the height is 22cm.

TN
~———

22cm

N—

What is the radius of the cylinder?

A.1.5cm B.2lcm
C. l4cm D. 10.5cm
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31.

32.

35.

T AL1S

In four years time Alice will be twice as old
as her daughter and the sum of their ages will
be 72 years. How old is the daughter now?
A. 20 years

B. 16 years

C. 24 years

D. 12 years

The scale of a map is 1:30000. What is the
actual length of a road drawn 5em on a
map?

A. 15km

B. 6km

C. (.6km

D. 1.5km

What is the place value of digit 3
product of 2.51 and 3.47
A. Ones

B. Tenths

C. Hundredths

D. Thousandths

in the

30.

37.

38.

Simplity:

23- %)+ 2 (Ox+12-3)

A x+9

B.2x-9

C.5x+11

D.5x-11

The sum of two parallel sides of a trape v

is 32cm. The perpendicular distance beivweern

the two parallel lines is 14em. Calculate its

area.

A. 448cm?

B. 214cm?

C. 224cm?

D. 112cm?

Mr. Magu bought the following itenis (rom

a shop.

- 3 bars of soap for Shs. 420.

- 2 - 2kg packets of maize flour at Shs. 44
er kg.

<§ %fg of sugar @ Shs. 120.

,&5 ckets of biscuits @ Shs. 45.

-~

& paid for the items using Shs. 1000 note.

é@Wbalmce did he receive?
A o3 320

hé 240

What is the size of anO'Ie DFG‘7

A. 140°

B. 110°

C.70°

D. 40°

12 men can complete iioiﬁg a certain job
in 10 days. How mamy more men would be
required if the same iob is to be ~ompleted
in 8 days?

B.3

C.2 D. 4
001 - 2020

39.

40.

C. Shs. 300
D. Shs. 280
Convert 12
A.1.25
B.12.5
C..0.0125
D.0.125
Kuria has x mangoes, Ann has & niove
mangoes than Kuria while Maxirn |
as many mancoes as Ann. Which &
below shows the total number of mangoes
they all had?

A.4x+ 18

B.4x+ 12

C.3x+ 12

D.3x+6

5 % into decimal.

Vias
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41. Which one of the following statements is not
true about a parallelogram?

A. Has two pair of parallel lines.

B. Diagonals are unequal.

C. Diagonals bisect at an angles of 90°.

D. Opposite sides are equal and parallel.
The diagram below represents an open
cylindrical tin.

42.

Evans wrapped a piece of paper on the curved
part. What is the area of the paper that was

wrapped?
A. 154cm? B. 308cm‘2
C. 880cm? D. 1188cm?

What is the difference in the number
and vertices of an open cuboid?

43.

A 4 B.5
C.6 D. 20

44. The chart below shows how a fa:
his farm.

46. A wrader sold an item for Shs. 1200 making
20% loss, how much would he have sold the

item in order to make 30% profit?

A. Shs. 1500 B. Shs. 1560
C. Shs. 2150 D. Shs. 1950
47. Work out: 40 -2 x (6 of 13) +~ 3 + 16
A4 B. 18
C.14 D. 28
48. Salima paid Shs. 600 for a shirt after he was

allowed a discount of 20%. How much was
the disconnt?

A. Shs. 120 B. Shs. 720
C. Shs. 750 D. Shs. 150
49. - The table below shows the bus fare charged

between town A and E in shillings.
A
50 B

| . q120 80 C

{ LWIQO 100 | 30 D

' 220y 150 | 90 70 | E

Kam ira travelled from town E to town A via
‘ %;I w much did he pay?

Il

: §hs. 220 B. Shs. 210

(- "%.“ng D. Shs. 200
1304 s[hesgragh below shows a journey of a

I£0.9 ha of the farm was used to grow maize.
What was the size of the whole farm?
A.7.5ha '
B. 7.2ha
C.9ha .
D. 6 ha
Construct trianglé PQR, line PQ = 7¢cm,
PR = 8.5cm and angle PQR = 65°. Drop a
perpendicular from point R to meet line PQ
at T. Measure angle PRT.
A. 48° B. 28°
C.23° - D.o90o°
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45.

m*‘%&is . What was his average speed after
resting?
240

200

g

Distance in km
S

[+
S

11am 1pm

Time

A.53 3 km/h B. 56km/h

0
8am 9am 10am 12pm

A

C. 140km/h D. 70km/h
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